ELEC 225
Circuit Theory I
Fall 2013
Selected Answers to HW #6
(revised 2:30 pm Nov. 5)
Remember to explain all answers.  You will not receive credit for merely repeating an answer given here.  When an answer is not given below, it is either because the solution is trivial or because disclosure of the answer would give away too much of the solution to the problem.
7.1
amplitude = [not given]; f = 4 kHz; T = 0.25 ms;  = [not given]
7.4
[answer not given]

7.11
a.  V1 = 4 ej0.524 V = 4 L 30° V

b.  V2 = 2 e j1.88 V = 2 L 108° V


c.  V3 = 1.57 e−j2.72 V = 1.57 L −156° V

7.12
a.  i1(t) = 6 cos(377t + 60°)  A

b.  i2(t) = 2 cos(2 × 103t + 150°)  A

c.  i3(t) = 3 cos(2 × 106t + 90°)  A

d.  i4(t) = 5 cos(2 × 104t – 127°)  A

e.  i5(t) = 4 cos(6 × 106t + 60°)  A
7.14
a. [answer not given]


b. [answer not given]


c. ZC = –j3.2 
1.
i(t) = 20 cos(390,000t + 158°)  mA [“−” changed to “+” 2:30 pm 11/5]
2.
[answer not given]

3.
max. voltage drop = 2.57 V

4.
[answer not given]

5.
phase shift = 90° [lag/lead portion of answer not given]

6.
a.  vL(t) = 12.0 cos(400t ± 180°)  V (either sign to the left of 180° is correct)

b.  vtot(t) is much smaller in magnitude than vL(t).

c.  [answer not given]
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